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co 	
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June, 2014 

BES-012 : TEACHING OF MATHEMATICS 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : 	(i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 Words : 
What are algebraic expressions and how they are 
formed ? Discuss the learning activities to teach 
algebraic expressions. 

OR 
'Sometimes children arrive at a conjecture, which 
is not true'. Explain one such situation. Discuss 
the importance and relevance of conjectures in 
mathematics learning. 

2. Answer the following question in about 
600 words : 
What do you mean by symmetry ? How will you 
transact the concept of rotational symmetry to 
children of your class ? 

OR 
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Explain the different representative values viz : 
mode, mean/average and median. How does 
representative values help us in drawing 
conclusion from gathered data ? 

	

3. 	Answer any four of the following questions in 
150 words each : 
(a) What are the strategies by which children 

construct mathematical knowledge ? 

(b) What do you understand by the term 
'data' ? If data is small, how it is recorded ? 

(c) How will you introduce the concept of 
'simple linear equation' to your students ? 

(d) Explain the terms : 'face, vertices and edge 
of a polyhedra' and formula connecting 
these terms. 

(e) 'Design of Physical environment of 
classrooms have great role in constructivist 
classrooms.' Comment. 

(f) Explain the strategies through which the 
concept of 'chance' can be introduced to 
students. 

	

4. 	Answer the following question in about 
600 words : 
What do you understand by 'activity based 
classroom' ? Select a topic from elementary 
mathematics and describe how will you teach it 
through activity method. 
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